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I.  Continued analysis of NN
a.  Question: why did the nmn explicate n13 for ymnR in v. 1(already included in ..nwy» 7wWR 53 12)
i.  Answer: per 3nv "1 — teaching that if he violated multiple N1y within one nbyn, liable for each
ii. Question: according to pnx’ "1, who uses v. 1 to teach (per ...5531 0w 727 3) that mn»3 *a7n do not get man
1. Therefore: he requires another source for multiple violations within one nYyn >multiple liabilities
2. Source: v. 2 - liability for each woman
b.  Question: why does the nmn add v’ 01y to the punishment for nmT (v. 4)?
i.  Answer: per na7’s resolution to v4 ~=v5
1. Resolution: if he already has children, they’ll predecease him; if not, he won’t have them (1)
2. Justification (for both v4 and v5): if we only had v, we would think that that is only until his sin
(a) And if: we only had ymmn, we would think that that is only after his sin, but not (born) before;>"np
II.  Source for nkIyn (being considered nx»a) in re: PIRY 227N
a. source: from the nmn’s stress on 71 N2V in re: N9HIN MNaW (v5) “other cases don’t require 1"
i.  Counter: from the nMn’s stress on MR in re: MN2 227N (above)>1IRY 227N require N2 M)
ii.  Defense (?wn *9): if so, let the nn be silent at v5
b.  Source: for nRIYN in re: PIRY 227N of NN (e.g. NWIM): MNP (from IMNNR)
Source: for NRIYN in case of NYY 1277 N: NRYA:NR (TAN R RD)
d. source: for NRIYN in re P1VY NN
i. ifiitis a®Y —same as IRY 727N
ii. if itis an nwY — same as WYY 27N
rather: source for nY»1Y NN (our MWYN) — RN (MHY R NND?)
f.  source: for MR NRY2: PP (from IMINKR)
g.  ANa7s question: why did the nmin explicate Y71 n15w in re: N9IN NNAY, VR NWR and nVIL?
i.  Answer: n91IN NNAY, as per above
1.  wn nwN: to exclude nn (1aR1) wHVN
(a) Note: this is only valid for opinion that naya nn wnwn is exempt
(b) Rather: to exclude necrophilia
(i) Justification: ®"10 since she is still "IRY” posthumously...5>"np
2. Avio. (YWY M) - to exclude N17p of 13773 RHWY IR
(a) Challenge (837): TWR *25VN equates NIITI RHYV::NITTI
(b) Rather (827): excludes n»p of “limbs” (e.g. fondling etc.)
(i) Challenge (»ax): this is mere mx»1a and isn’t addressed by the nmn
(if) Rather (»28): excludes np w1 (contact without penetration)
1. Note: this is only valid according to 7"n that nXayn is penetration (w/o »1r)
2. However: according to 1"n that nxpn is “nprw1” —invalid
(iii) Rather: we revert to R17's answer
1. Justification: we would think that »n»p is anchored in husband’s subjective jealousy, 9"np

e

III. Definition of nxIyn
a. Snmpw: direct contact without penetration ("np wa”)
b. v 71 (reported by n7237): NR»a M) in case of NN NNAWY is penetration
i.  Challenge (¥”9): "p1 n15w” — only liable if he has “complete” nx»a
1. Assumption: 73 completely inside
2. Correction: noy is completely inside
c. v 1 (reported by 2027 “7and pa7): nRIYN is penetration of the nvy
i.  Challenge: n"111 (above) reported differently (one is certainly wrong)
ii.  Question: does this report differ from Rnv’s ruling (it certainly dissents from n”11v’s report)
1. Answer: not necessarily; from np>w) until entry of nqvy, all called nxyn
iii. 7 (from AT 93 580w 77): anything before entry of nvy is nprwa (>M04); certainly at odds with Hxrmnw
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